bSvD - Ja4—IILF1EH - T - R - RIS - SR
bet #5R =—r [] gitias  $3E LT B R HEREEEX S/ NE 4 1500m a—F [ ] #®uEs XE B
AEE — AR BT E A SRR SRS pins BEASEBSME L HRS a—F [ | amxee KB IE—
aer] A | L[| mE]l] e TR =T TR =T TR =T wE | s
12/03 %&m 1 1[@&W N B 5:01.34 ||2|ZH MHEX fEIRR 5T 5:01.83 ||3| &= = FEOET™ 5:07.29 ||4|9% =B FREETIEK 5:13.09
5% fE] BEH 5:18.45 |6 [ILA ¥AK FBEM 5:18.51 || 7[#2E X INGL) 5:18.88 || 8|AM Ek & 7KET 5:25. 61
9[EB ®E |@mBm 5:29.38 [1OBEBT BA A=A 54511 | (B A |RRE /3] L DA  |[Ge=A /3]
12/03[BF 2 TIER 3%  |RIRmmE | 45246 ||2|@A &8 |BEm 5400 |3 E Zm  |BEm 456,88 | 4R X8 =AM 5:08. 60
1500m BHEEIEEE Flllm 5:11.93 || 6|&FW 2] SH™ 5:12.15 || 7[;E L BEX 33 5:12.89 |8 |FFH #&3% HHET 5:15.32
9[FE LR EXEM 5:17.56 ||10|2H =) PR AT 5:18.02 |11|#2tt ZE2H0 & HET 5:53.74 |[12|BEK [BE JIAR A HET 6:08. 05
12/03 %g}m 3 TS BEM 4:58.31 [[2|E¥ FWaR EMTTIALED 4:59.20 |[3 =8 EXL 5% [ T 5% [ 5:00.70 (|4 |%H Ints TH 5:07. 34
5|RF BA  |WEm 5:00.35 [ 6|fABES |=Bm 51371 |[1|[&% SB  |[Btm 5:16.25 | B[Rk 5K |FAMGAT 5:26.46
V[EE ®mD  |F=m 5:27.96 [[10[BE®% M@ |BEm 5:30.12 [[11|BkE %ZE  [/AMLAT 5:59.28 | |[SAmAE  |RZEM /33
12/03| % ¥ 1 TZ=ERt0E SR 5:14.27 || 2|BK #EE FREEITIEK 5:19.05 ||3|fE =F & HET 5:21.06 [|[4[;BM 1% Bt 5:22.02
oo S5|CR —f  |[Fam 5:22.76 || 6[lAR Fizx  |RBE 5:28.56 | 7| W%  |&EE 5:28.62 |8|®  f&®  |famhmsb | 5:30.30
O[FHF @H  |Bm 5:30.45 [0/t 18& W& 5:30.92 [[11[EA @M  |ZAT 5:33.13 |12[BfE B&  |RE=H 5:36. 21
13|k8 B”E BT 5:38.29 (14[;BEEMLHE EtEM 5:46. 63
12/03 %(J%Om 2 N ETEIEE e 519.22 || 2| ER =k TR 52172 3|20 BT EEM 52351 |4|ME BE BB m 534 13
5|80 AEf THH 5:34.71 ||6[ILA 3F3E BT 5:35.20 |7 |[FEAZ&KFE BEH 5:37.05 (|8 |RLADY =8 5:37.17
HE B |RE=a 5:37.40 |[10|FE& % |F=OEM | 5:38.36 ((1|EA 2  |EmEAE 5:30.92 [12[BA w2  |[Fem 5:44. 75
13#EA FE AL 5:59.38 |[14[#HIEDOZ PR =T 6:07.74
72703 %chm 3 Bz R 5:06.99 || 2| BB RmZ | ERmALE | 5.11.67 |S|[ERARIF  |Gmmem | 5.19.64 | 440 Bkak  |[/NLET 5:28. 09
5|®AROEY BEm 5:28.47 6|k ®Bx  |EE=A 5:34.34 [T|[EE E  (BEm 5:35.65 |8|lAF L&  |ZAT 5:35.65
B = fEN AT IS T 5:36.29 [10[;TO = RRHE 5:44.20 ([11[XE BHHR KHF™ 5:45.12 [12|8kE +tiE & 7KET 5:45.43
13|+t & JIB A ET 5:47.02 |14[85K K=E RFZH 6:00. 83




